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Note: - (1) All questions are compulsory.
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(2) Figures to the right indicate full marks
(3) Answer to each question must being on a new page

Attempt the following (Any 2)

Explain the meaning of private goods and its characteristic.”
Explain the major functions of revenue.

Explain the differsnce between public expenditure and private
expenditure.

Attempt the following (Any 2)

Explain the principals of good of ideal tax system.
Discuss the merits and demerits of direct tax.
Brief the different types of budgets.

Attempt the following (Any 2)

Explain the different concept of deficit.

Explain the reason for increase in public expenditure.
Discuss the public debt concept and its types.

Attempt the following (Any 2)
Explain the goods and service tax. (GST) concept

Discuss the recommendation of fourteenth finance commission.

Explain the sources of public receipts (Tax &Non-Tax)

Write short notes (Any 2)

Role of governments in modern economy
Public goods

Extrenities concept

Budget of government of India (recent year)
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